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V=V,
y:
V= V(x,y) V=0
. X
V=0 Xx=a

WA Tz B RN NEEEOTASHV (x,y) L AN Laplace 52K - £A@ -
HERRT @B L&A ALV, Z T -

(@)% B F —4 Laplace ¥ 2 X1 & A ARE MK (5%)

OB ELANBPERA TR HBEAST - V(x,y)= (15%)
[21(20%)

A=a (x-2)+a(y+3)+a,z

(@) B AT o B Ve d= (5%)

(b) %K B4 Bp VA= (5%)

©) £BAEHGE  REV(Ae D)= (10%)
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Mo HEXA

d d x
Ey(x)+55x—y(x)+6y(x)= 6e™

(a) HiLarh y, = (5%)
(b) #M 2y, = (10%)

[4]1(25%)
(@) RETF f(x) # g(x) Z 48 Hk(convolution) * Bp f(x)*g(x) = . (5%)
(b)3§ & T 44 7 k2 ig(Fourier trapsform ) R A% 71 3 #% 3 (inverse Fourier transform) 2 2 & (5%)

©F /() 47 KMB A f(@)  g(x) 87 KA g(@) - WRT(RARA) f(x)*g(x) =

A7 ¥R BT 7 (5%)
(d) 329 L — M2 (10%)

[51(20%)
(@) L f(x)= 1+lx2 # x =0 2 % ¥ 4& 3¢ (Taylor series) & M (% H m38)(10%)

() KK g(x) =tan™' x ¥ x =0 Z # ¥y 48 $¢(Taylor series)& M (% H 9 37)(10%)
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